EXEOH (EE1 05 - 5§25 5%3i%)

TR0

FreFERTEEIAAN ARKa—RL—F|

EHPEE

ERRS0OFETHIH LA FIe4E6 A30H £ T

CHNF A e Ry NT—7

(BH7 2 )
3! Az #
IRy AE
1 ASEESE
- ESB A4S 1,110, 000
ESBEASS 180, 000
- BHEEASSE 200, 000
- EBFSE 15, 740, 000
- ESBESH 2, 560, 000
- BB ESE 20, 700, 000 40, 490, 000
2 ZHUEI4
- S HUER 4 0
3 FHENLE
- AR HE N 17, 690, 000
- IR AS SRS 0
RO = A 2,990, 000 20, 680, 000
4 FOMINEE
e SRR 0
BN AR R 61, 170, 000
R
1 HEE
(1) A2
N 21, 750, 000
LB 3, 030, 000
BRI E Ay 20, 000
N5 24, 800, 000
(2) F DR E
HEEH 4,310, 000
¥z E 550, 000
FEPTE SR 10, 510, 000
1l S A 1, 100, 000
BIEE 950, 000
HEEM 2 870, 000
I X 270, 000
SEEHE 90, 000
IT= vkt 380, 000
ITERE#E 380, 000
EhE# 10, 000
V7 AR 50, 000
RIA FHCE 80, 000
pritd 140, 000
TN E H1 1, 240, 000
< O H T 20, 930, 000
HEHRG 45, 730, 000
2 EHE
(1) A2
N 7, 250, 000
EERER B 1,010, 000
R R Ay 10, 000
N5 8, 270, 000
(2) F DR E
B Y LG ¢ 180, 000
FHPTE SR 3,510, 000
FI kil A 2 370, 000
BIEE W 320, 000
HEE 2 290, 000
BT X 90, 000
BB 30, 000




2 B

=
ITEREE
e
V7 NN
PRIA FEOR
ey
A& 2
Nkt
ST
FHBLN TR
F DAL
EEitiaay
B E
1 HIR TR
7 S 4

TEABL, AE R OV 28
4 300 1 B U 7 TR
FIT 0 B L R S PE
U AT R P PERE

120, 000
120, 000
0

20, 000

30, 000

50, 000

410, 000
80, 000

370, 000
800, 000

6, 790, 000

15, 060, 000

60,

790, 000

380, 000

0

0
380, 000

0
380, 000

41

, 273,176

. 653, 176




